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IMPORTANT NOTES:

1) Please make sure that you have written your student number and name above.
2) Check that the exam paper contains 5 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.




1) Evaluate.
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2) Evaluate.
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3) a) (8 pnt) Evaluate /mdx = Lﬁm) cly
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b) (8 pnt) If y is a function of z such that ;l_y =2z + = and y(0) = 4, find y(z).
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c) (8 pnt) Find the area of the region between the curves y=az*+1and y =2z +4.
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4) Consider the matrices
1
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a) (4 pnt) Calculate AB if it is possible. If not explain why?
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b) (4 pnt) Calculate C*.
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c) (4 pnt) Calculate AB + BD if it is possible. If not explain why?
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d) (4 pnt) Calculate AB + 2C7 if it is possible. If not explain why?
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5) a) (13 pnt) Consider the linear system

r+2y=1
x+3y+32=2
2z + 3y — 2z = -1

(i) Form the augmented matrix of the given system.

(ii) Solve the system by using matrix reduction.
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b) (12 pnt) Consider the linear system

r—2z=2
r+y—3z=3
—2y+4z= -2

(i) Form the augmented matrix of the given system.

(ii) Solve the system by using matrix reduction.

4 0 -il2
VR | “3]3
o -2 4l=
N
kg—DJLL-—)ﬂ:, 'S
O

X-2= 2
J-2%=4

M-, —> N2

i O

o 4

0 -2
X=2+¢
0%» 448 &

‘i‘Z

-2_/4
‘| -2
e 1




